


 

b) - I find in the text words that opposite in meaning to: 

Big ≠ ………………………                   Cheap ≠……………… 

 

B/Mastery of Language: (07pts) 

  Task01: I match each question with its appropriate answer (2pts) 

a- How much does it cost?                                             -There are four. 

b- What is your weight?                                               -Blue 

c- How many apples are there?                                      - 41 kilos. 

d- What is your favourite colour?                                 - 3000 dinars 
 

 Task02: I fill in the gaps with “ many –any –much –some” :   (3pts) 

  

  *  How……………........ oranges are there in the basket? 

  * There isn’t…….………sugar, but there is....................... milk. 

  *  How………....... water do you need? 

Task03: I put a tick in the right box : (02pts) 

 

 

 

 

 

Part two: (06pts) 

Situation of Integration: 

* You are at the clothes shop to buy a coat for you. Write the dialogue between you and the 

shop assistant:   

 Item: a coat  

 Colour: red  

 Size: medium  

 Price: 2000 dinars 

 Pronounced  /r/ Silent /r/ 

Market   

Carrot   

Orange   

Hamburger    


